B 517 B0 3 ORA S B o LR
— B ST

I AR
(ERTER)

—. [EIEERY{RH R EHFEE

X T4 4 R HE 4 0110 bl 5 4 4 R D O L, MR B TR TE R B R AR T
VIR R R AR MRS REH. R, TR EE0NE X2
SRR AL, BEH RIS, XA AR AR E S AT N THREEEL, R
LA3S LR FROREE 40 317 b 5 5 30— 14 5 T 40 (0 AR R 25 5 07 00 2305 L
R B (1 PR B iy 4. 38 HL 10 2 )R 35 0.5 07 77 88 05 0L RTHE 2 B B4 R
SPBTAEI, BORETTRUA S M 45 M 5 R 50 o LT, BT 1A B ) bl 025 L A 22
VI RES Rk, AT L, — TR B 5 O 0 B R L B B A
PRV 45 T B2 1 145 4 652 4 U AR AR 0 B o B B0 T 0 T 2 1 S 45 R A, T LS5 4
SRS R ARG, Tt RN T L S B TR, % 1 H TR0 4 R
HE—RTAAN Y, NIATTRIBEES NS, BN S0 ERRN . R
KU, BT IS AL LRAE AR A P, FRARR B PRI AT FLAR 66 K
BRH), B LA A R A e T A i, BT T AR B A b B P R K RO L T,

SR H A RO B, (013 M RERTRN S0/, U006 0B 1

i #2290
{Ymax<Y’
Lanx<Z
Bw =<0
JUfT #9 R
[ KI10Quex<<0,2Rat1+(B1—t1)
| K1¢(Q:)eex<0,3R.b1eh1
f0°<0'75R‘
| K1+Mos<0,4Rywb2eh2eh2

EQLP Youex » Zuix _%EHE;}(7KEPP§E’::IH]*EX‘T&$§¥ Y* 92* — Y 5 Lmax Hg j[: "ﬁ:



66 ' w7 b R A BT BN R 19844F

s Kl —RERE; Quu — -G URIRTRAY G Mo R —RELHIES
BRI RE, t1, B H R R (Qome— a—j‘\E’iJ,ﬁlZ?;@jJ 3bl, b2
RS RBEGIENE b, RS ERENE e T R TENE N ), Mo
——ERRRRRA L. |

=, MERANME—ETRT

LR BB R TR TR S PR Rty T e 0 R BRI OR A, RSO B R R
R, XAy BAR BB 3O B R R AR ECE R, A T — R RORBR A
BT, MBRXE Y HSR G, WS RIFERI TR, &L ARET &
L AT, =L+ 1,)/2, I, L, I, WhERIBAW LI EEAREE R -1 &
. B EERDT,

EET
—— ¥
| f A WIHOAS, TRERM AL MEEHRFLD
]
W AN BEREH, T L1, Lo B ik R R M,
| EREH IR C, MEHEBERE, 95 A 85
| A AL |
- i

B A RERAALE L, KKV | |

iﬁﬂﬁﬁﬁﬁkﬂmuﬁw

]

T BETAR

| BRI RE IR Edg{

|
|
b B N
i | BRI F(4,4) }
e
| BRATERIER V(4,0 5
_,iﬁglf;' S - .
f‘?g* hifgﬁﬁ% N(A3,A3)
- | -
MABRERNE  X(A3,3)
, | ) o

ORI RS C(A3. A3
' 1



% = E A K R ® M 67
T C .
. } ﬁﬁi%ﬁﬁﬂﬁﬁ%ﬁlﬁ N(A3,20A3) T
| L Vo
| ilﬁﬁfxﬁw’w X(A3,D) FifA K T |
i ‘,r,, o - 7777i T T T - |
| k&?]?ﬁiidﬁiﬁiﬂl%ﬁ P(I_,Jjwuﬁ_,__ ,,i
P v S )
l \ 15J4\\/49&W73 Z(8+4*A3H) g
. L_hr,:'z,\rﬁwaxﬂm;_ z ]
| i
| LA\ e 1, A B 'f—\ fﬁﬁ«’%:’ﬁrﬁal} |
- S |
B A R
‘ ' o ,Al : S o
I 1L [T VU
= B F # B
5 A3=7: Ai=0,75: D=0,135 41/1?)\;»,211’5?&3
10, DIM A(3+A3),L(2¢A3),H(2¢A3),X(A3,A3), ‘ !
B(2¢A3+1).D(3+A3), P(3xA3, A3),K(115,5) O
15 DIM M(2+A3,25A3),N(2+A3,2:A3), C(2+ A3, 7
2+ A3),Y(5,5),1(5,5), K(115) - |
20. DIM Z(115),Q(115), F(5,115),S(A3), G(3» |
A3), T(A3),1(A3) X
25 H=42,00 L1=38,16; L2=10.92: M=0, C
0246: C=15208! A2=1,2 |
30 11=0,01: 12=50,0 - BANE
*+ 40 LPRINT - R R |
50 I13=(l1+12)/20 E=2,6E+6! G=0,42+E |
B 10 FOR 12 TO A3-1: M1, D)-Ms5_6+L1sL2: Tt
# NEXT I: M(1,1)=Ms7sL1sL2: M(A3, A3) womom R
T SM(A3-1,A3-1/2 N = i l‘
T 170 FOR 1=2 TOAS: L(h=5,600 NEXTL L 77 771
R ymsa ST waenkeng |
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185 (D =I3: (D =AIB:NH=ID: D=1 HANETHA T

1=4TO A3:C(I,I)=1:NETX I
400 FORT=4TO A3: C(3,1) = -M(J, D*((X(1,3)
C wX(2,2)-X(1,2)¢X(2,3))«(X(1,2)¢X(], 1)

2 1(5) = Al1+1(4) : 1(6) = I(5) : (7> =1(6) EHEN g i
200 FOR [=1 TO3+xA3:P(l,1): NEXT I R
2056 U=1:FORA=1 TO A3: FORB=ATOA : I
GOSUB 800 : NEXT B: FORB=1TO A: N s
(A,B)=Z(4+*B+9) : PRINT "N("A3;","B;")
="N(A,B);NEXT B, A *
265 FOR I=1TO A3: FORI=1TO A3 g
270 IF I>=1 GOTO 280 i
275 N(J,1)=N(I,J) : NEXT I 73
280 NEXT !
300 FOR I=1 TO A3:FORJ=1TO A3:N(,A3 4 t
+1)=0:FORK=1TO A3 o |
o !
305 N(I,A3+ 12 =N(I[, A3+ )+ N(I, K)*M(K, I . |
: NEXT K 5 |
310 PRINT "N("I;",”A3+ I3V ="N(I, A3+ D) - :
: NEXT J, | !
325 GOSUB 100’0:T(1)=T REA KR t
330 FOR I=1 TO A3: X(I,1)=X(I,3) : PRINT" |
X("I3","13") = "X(1,1) : NEXT I BB
335 FOR I=2 TO A3:C(L,D=1:NEXTI[:FOR g gz 1
1=2TO A mH i
340 C(1, 1) = - M, 1+ X1, 1/ (M1, D*X(1, 1)) : ? ?{; i
NEXT ] w B ;
345 GOSUB 1100 : GOSUB 1000 : T(2) =T RE -~ w |
360 FORI=1 TO A3:X(I,2)=X(I,3) : PRINT |
"X(";",2)="X(I,2) NEXT I B A B
375 FOR 1=3 TO A3:C(I,D)=1:NEXT I:C W f
(1,1)=1 BROIH }
380 FOR J=3 TO A3:C(2,1)=-M(J,D=(X(1,1) B OB | -
X(5,2) -X(L DX 1)/ M2 e (X(L DX = |
(2,2)-X(1,2)«X(2,1))) : NEXT J < fE i
385 C:,OSUR 1100 : GOSUR 1000 : T(3)=T ;R ? = T
390 FORI=1 TO A3:X(1,7)=X(1,3) : PRINT {
YX("13",3)="X(I,3) : NEXT I & AW !
395 FOR I=1 TO2:C(.D=1:NEXTI:FOR k)
|
|
|
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i =X (1, D*X 3,20 -(X(1,2)+X(2,1)-X(1, 1) )
#X(2,2))+(X(1,3)X(J,2)-X(1,2)+X(1,3))) A
102 C(3,1) =C(3, 1)/ (M(3,3)x((X(1,3)X(2,2)-X o
(1,2)+X(2,3))+(X(1,2)+X(3,1)-X(1, )*X(3, ® R
| 2))-(X(1,2)*X(2,1)-X(1,1)*X(2,2))=(X(1, e
| 3)+X(3,2)-X(1,2)+X(3,3)))) NEXT I i .
| 405 GOSUB 1100 : GOSUB 1000 : T(4)=T 77—~ 3
| 410 FOR I=1 TO A3: X(I,)-X(I,3): X, 3= * = W & & |
[ X(I,7> : PRINT *X("I;",4)-"X(1,4) : NEXT 1 A M |
| 420 FOR I=1 TO4:D(A3S+1=0:D(2+A3+3 ?
| =0:FORI=1 TO A3 _g %
F 425 D(A3+ 1) =D(A3+ 1)+ M, DX, D .
| 430 D(2:AZ+ 1) =D(2¢A3+ D+ M1, DX, DX -
{ (L,T): NEXT I W
435 D(I)=D(A3+1)/D(ZxA3+ 1) : PRINT ’D B
* ("13") ="D(1); NEXT I # |
| i} . Ly e
| 0 FOR I=1 TOA3:FORI=1 TOd cammam !
© 45 PALD = XA, DD()+0.325-D ML, Do, 81/ T BEEE
(I) PRINT "P(*[3*,"I;")-"P(1,1) s NEXT J,1 ™ !
T 470 FOR J=1 TO 4:P(2+A3+1,1)=0: FOR  m '
© 1=A3TO 1STEP -1:P(A3:1,1)=P(A3+1+ & 2
LI): P(A3+1,1 =P(A3+1, 1)+ P, D) : g@f %
PRINT “P("A3+1:","I3") = "P(A3+L D) : BBy
fi NEXT I,] & |
520 FOR 1=1TO A3:P(2+A3+1,1)=0: FOR J- - I
| I TO 4:P(2+A3+1,1) =P(2¢A3+1,1)+P(A3 -
| +LD+P(A3+ 1,1 1 NEXT I PQ2eA3+ [, 1) .
s SQR(P(2:A3+1,1)) : NEXT 1:Q0=P(2:A3: o W
1,1): FOR 1=1 TO 4:LPRINT "T(’I;7)=" o
T(D : NEXT I i
| 525 U=4:A=A3:E=1,60E+6:G=0.42+E : ~-----~-~--—-----~-<»---~-—--"~-*1;-
\ GOSUB 800 % =
535 P(20A3+1,2) =0:Z(12) =132 Z(4*A3+7) B %
| =-Z(4%A3+ 7T #
540 Z(10) = P(20A3+1,2)/(Gal2413/C A2+ L2+ L2) .
| C): FOR [-1 TO A3 : P(2¢A3+1,2) = -(Z(40I B
i +11)-F(3,4*1+2)%Z (41 +6)-F(3,4*[+ 3)+Z B R
| (4T +7))#S(D/ (LD G (DY ‘ I
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545
550

565

570

650
652

655 .

660
662
665
670
672
675

680 -

687

690
695

705 .

IF 1{)1 GOTO 560

IF ABS(P(A3+1,5)-P(2+A3+1, 2))/P(2*

A3+1,2)<V/1000 GOTO 560. :
P(A3+1,5)=P(2#A3+1,2): PRINT "P=v

P(2+A3+1,2) : GOTO 540

F(i,4#1+ 4)=P2«A3+ [,2)+L(D)*(1 - G(I)/

S/ C:F(2,4+]1+4)=P(2:A3+1,2)+(1~ .

G(A3+1))/C: F(3,4=I+4) =-P(2:A3+1,

2)=L(1)=GU)/SD)

FOR J=1 TO4:Z(4+1)=0:FORK=1

TO4:ZA+D) =24+ D+ FU,4xs1+K)=2Z

Chri+a+K) e NEXT K:Z(4*1+8+J)=12

(4+1) : PRINT 77741+ 8+137)="Z(4+1])
: NEXT J,1

FOR [=9 TO 4xA3+1i2: R =Z() : NEXT
I:FORI=1 TO A3:LPRINT ~P("157,1)
=#P(2%xA3+1,2) : NEXT I

IF Z(4*A3+9)/H>1/700 GOTO 680

Y=Z(4*A3+9)/H

Z=0:FOR K=10 TO 4*A3+10 STEP 1 -

[F ABS(Z)>ABS(Z(K)) GOTO 665

Z=Z(K):PRINT 7Z="Z

NEXT K

IF Z>1/6060 GOTO 680

IF (12-13)/13<10+V GOTO 690

[2=13: GOTO 687

[1=13

LPRINT 71="13,7Q0="Q0,”Y ="Y,"Z="17:

GOTO 40

S=0

FOR I=1 TO A3:S5S=S+5(I)+L(I): NEXT

[:S=S/H

FOR K=10TO 4+A3+10 STEP 4 : Q(K)=0
FOR W=1TO U : Q(K)=Q(K)+ (C+K(K,
WH=(C+K(K,W)) : NFXT W : Q(K)=SQR
(QCK» : NEXT K , :
X=1:GOSUB800:FOR W=1 TOU: P
(A3, W)=P(A3+1,W) : NEXT W : A(A3)
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s, 74x1+ K57 =7Fd,4+1+ K) : NEXT K, 1,1

L | a0 i R R R AR 71
=A(A3+1) : FOR[=0TO A3: H®m =0: o !
FOR(_W=1 TO U :,_H(.BE%(IH (4(13)(A§+'I, I
W) —CoK (4+1+ 16, W)= A A3+ DD+ ((P(AS 2 3 |
+1, W)-CsK(4+1+T70, WHrA(A3HT)) ¢ !
NENT W : (D) =SQR(H(D) : NEXT I . 1

710 FOR K =117TO 4%A3+11 STEP 41 LPRINT” 4] |
M7 (K= 1D/457) = "R(K),*Q(“ (K = 11)/437) £ |
:”Q(K—1),”Q(”(K—-11)/1+A3;”)=”H(‘(K %

-11)/4) : NEXT K

715 LPRINT “H-"H,#L1-7L1,7L2="12,7C="C {h

720 LPRINT "Q0=7Q0,"Y ="Y,"Z="Z,"1="[3 e

725 LPRINT #S$-*S,”T1-"T(1),"T2="T(2),”T3 7
=3, T 1 =""T(4) S ;

730 END £ fRF R

300 FOR W=1TO U :FOR[=1TO 4:FOR j=1 t

TO4:E@D =0: NEXT I,1: E@2,2 =PA+ © LK &

1, Wi/ (Gw12+13/ (A2+L2+1.2) + C) : A4 =E(2 HOBE #

2) T B33 =1 B4y =1 V
R 103 HORLATO AL MO -G O sy |
& =AD : IF X(71 GOTO 810 ( HOALEH B IS )

. \ T & B

HLg07 E(2.2)=0:A4=E@,2:AD=1 !
= 810 S(D =L(D*SQR(C*AD/(Esl(D)) 1 GD = g e somy g g, )
o (EXP(S(D)-EXPESDOMN/2: GA+D A 25 M W B
" = (EXP(S(D)+EXP(-S(D)/2 &R
B 315 1,1 =1:F,2) =LO+sGD/SD :Fa, T *
fl 3)=-(1-G(A+1))/C ” &

820 F(l,)-PA+1,WXL(D*»(1-GD/SAN/C .

B ga5 F2.2-GAD 1 F(2,3-SMGm/C Ly  *
)1 830 F(2,4) =PA+,W)«(1-GA+D)/C:F@, #
T 2) = CeL (D =G (D) /S(D Ef : l‘é_
‘ 835 1(3.3) =F(2,2) t F(3,4) = -P(A+ 1, W)+L(D T M !
e WGD/SM T FUD =1 i
f 810 FORJ=1TO4:FORK=1TO4: YA, K =0 o [

845 FOR N=1TO 4:Y{U,K)=Y{J,K)+F{;N). % \‘ ‘
*E(N.K) : NEXT N,K,]J & i

850 FOR J=1TO4:FORK=1TO 4:E(U,K)= w K

; Y (J,K) 1 Fd,4+1+K)-F(J,K) : PRINT 7F( 5w B
) v
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860
865
870
875
380

885

890

900

" 1000

1005
1010
1015
1020
1025

1035
1040

1045
1100

1105

1115

1120

20 =-(Y(3,2+Y(3,4)/Y(3,3)

ZG3) =20 1 ZW=1:Z()=0:7Z(2)=Ad
FOR J=1 TO 4:K@+J,W)=Z(J) : NEXT I
FORI=1TO A:FORJ=1 TO 4:Z(4+I1)=0
FORK=1TO4:ZU+D=Z@+D+FJ,4s]
+K)*K(K+4+4+[, W) : NEXT K
K(I+4+8+J,W) =Z(4+1) : PRINT “K("I*4+4
#1354, "W 5 7) =K ([+4+4+], W) : NEXT I,I, W

EwREHERE

B

BRI E—RITR

FORTI=1TO A+1:FOR I=1TO 3: Z(4»]
+4+1)=0:FOR W=1TOU :Z{4*I+4+1])
=Z4*I+4+ D+ K@*I+4+ ], W)=(K(4#1+14
+J, W) : NEXT W

Z(4#1+4+ J) =SQR (Z(4#1+4+1)) : PRINT 7“2
("4l +44+157) =72 (4=]1+4+J) : NEXT J,1
RETURN

B(A3+1D =0

FOR J=1 TO A3:X{J,3)=1:NEXT]J
FOR I=1TO A3:B( =0:FORJI=1TO
A3:BM) =B +N{I,A3+ D)+ X{J,3) : NEXT
I,1I

FOR 1=1TO A3:X,3)=B()/B(A3) :
NEXT 1

IF ABS(B(A3)-B(A3+1))/B(A3) <V /100
GOTO 1035 :
B(A3+1)=B(A3) : PRINT’B="B(A3) :
GOTO 1010

T =2+0,8+3.14159xSQR (B(A3))

FOR I=1TO A3:FORJ=1TO A3:Cd, D
=0: N, =Nd,A3+]) : NEXT 1,1
RETURN

FOR I=1 TO A3:FOR I=1TO A3:C(,
A3+ =0

FOR K=1 TO A3:C(,A3+1)=C(, A3

+ D+ NAL,K)+C(K,D : NEXT K

N(,A3+D =C{,A3+]) : NEXT 1,1
RETURN
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